Quadrant 3 — Exercises
Unit 4 Questions

Fill in the blanks:
An example of single jersey fabric with tuck loopsis
____ knitting produces tubular fabric.
An example of weft insertion knitis

Choose the best answer:

The __ fabric is knit by alternate courses of knit and purl stitch.

a) Rib b) Purl c) Plain d) Interlock

Sliver knit fabrichas ___ on its fabric surface.

a) Luster b) Loops c) long pile d) Printed designs
Double knit fabric made by special loop transfer techniqueis

a) Rib b) Interlock c) Cable d) Lacoste

Rib fabric made with patterns of knit and miss stitches is

a) Cardigan b) Velour c) Milano d) Cable

Suggest the best suitable fabric for the following end uses:
a) Imitation fur

b) Thermal wear

c) Jogging suits

d) T shirts

Discuss the features of following fabrics :
a) Knit Terry

b) Cardigans

c) Pointelle

d) Fleece

Compare and contrast the following fabric characteristics:
a) Knits and Woven
b) Rib and Interlock



UNIT 4 Answer Key
I. Fill in the blanks:

1. Lacoste
2. Circular
3. Fleece

I1. Choose the best answer:
Rib
Long pile

Cable
Milano

P owpnhE

I11. Suggest the best suitable fabric for the following end uses:

Sliver knit
Raschel
French Terry
Interlock

P owhPRE

IV Discuss the features of following fabrics :

Knit Terry
Cardigans
Pointelle
Fleece

PowhdPRE

V. Compare and contrast the following fabric characteristics:

1. Knits and Woven
2. Rib and Interlock



